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What is the value of 9002 — 2009?
A 9336 B 6993 C 6339 D 3996 E 3669

How many of the six faces of a die (shown below) have fewer than three lines of symmetry?

A2 B 3 C 4 D5 E 6

Which of the following is correct?

A0Ox9+9x0=09 B 1x8+8x1=18 C2x7+7x2=27
D 3x6+6x3=36 E 4x5+5x4=45

Which of the following points is not at a distance of 1 unit from the origin?

A (0,1) B (1,0) C (0, -1) D (-1, 0) E (1, 1)

Which of the following numbers is divisible by 7?

A 111 B 1111 C 11111 D 111111 E 1111111

Each square in the figure is 1 unit by 1 unit. What is the area of M
triangle ABM (in square units)?

A 4 B45 C5 D55 E 6

A B

How many minutes are there from 11:11 until 23:23 on the same day?

A 12 B 720 C 732 D 1212 E 7212

The figure on the right shows an arrangement of ten square tiles. A E

Which labelled tile could be removed, but still leave the length of

the perimeter unchanged? C D
A B C D E B

. .. 20, . : .
How many different digits appear when 11 1s written as a recurring decimal?

A2 B 3 C 4 D5 E 6
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The diagram shows three squares of the same size. What is the value of
x?

A 105 B 120 C 135 D 150 E 165

In a sequence of numbers, each term after the first three terms is the sum of the previous three
terms. The first three terms are —3, 0, 2 . Which is the first term to exceed 100?

A 11th term B 12th term C 13th term D 14th term E 15th term

Gill is 21 this year. At the famous visit to the clinic in 1988, her weight was calculated to be
Skg, but she now weighs 50kg. What has been the percentage increase in Gill's weight from
1988 to 2009?

A 900% B 1000% C 5000% D 9000% E 10 000%

The sum of ten consecutive integers is 5. What is the largest of these integers?

A 2 B 3 C 4 D 5 E more information needed

Karen was given a mark of 72 for Mayhematics. Her average mark for Mayhematics and
Mathemagics was 78. What was her mark for Mathemagics?

A 66 B 75 C 78 D 82 E 84

In Matt’s pocket there are 8 watermelon jellybeans, 4 vanilla jellybeans and 4 butter popcorn
jellybeans. What is the smallest number of jellybeans he must take out of his pocket to be
certain that he takes at least one of each flavour?

A3 B 4 C 8 D9 E 13

The kettle in Keith’s kitchen is 80% full. After 20% of the water in it has been poured out,
there are 1152 ml of water left. What volume of water does Keith’s kitchen kettle hold when
it is full?

A 1400 ml B 1600 ml C 1700 ml D 1800 ml E 2000 ml
The tiling pattern shown uses two sizes of square, with sides of u!

length 1 and 4. A very large number of these squares is used to tile
an enormous floor in this pattern. Which of the following is closest

to the ratio of the number of grey tiles on the floor to the number of
white tiles? o ~
A 1:1 B 4:3 C 32 D21 E 4:1 i

Six friends are having dinner together in their local restaurant. The first eats there every day, the
second eats there every other day, the third eats there every third day, the fourth eats there every
fourth day, the fifth eats there every fifth day and the sixth eats there every sixth day. They agree
to have a party the next time they all eat together there. In how many days' time is the party?

A 30 days B 60 days C 90 days D 120 days E 360 days
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The diagram on the right shows a rhombus FGHI and F G
an isosceles triangle F'GJ in which GF' = GJ. Angle
FJI = 111°.

What is the size of angle JFI ?

0

J
A27° B29° C31° D33 B 34l e

J )% scale
In the diagram on the right, the number in each box is obtained by
adding the numbers in the two boxes immediately underneath. X
What is the value of x?
A 300 B 320 C 340
D 360 E more information needed 20
12 78

A rectangular sheet of paper is divided into two pieces by a single straight cut. One of the
pieces is then further divided into two, also by a single straight cut.

Which of the following could not be the total number of edges of the resulting three pieces?
A9 B 10 C 11 D 12 E 13

Starting at the square containing the 2, you are allowed to move from
one square to the next either across a common edge, or diagonally
through a common corner. How many different routes are there
passing through exactly two squares containing a 0 and ending in one
of the squares containing a 9?

A7 B 13 C 15 D 25 E 32
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The currency used on the planet Zog consists of bank notes of a fixed size differing only in
colour. Three green notes and eight blue notes are worth 46 zogs; eight green notes and three
blue notes are worth 31 zogs. How many zogs are two green notes and three blue notes worth?

A 13 zogs B 16 zogs C 19 zogs D 25 zogs E 27 zogs

The parallelogram WXYZ shown in the diagram
on the right has been divided into nine smaller

rided into nine s / /(4 /) /)
parallelograms. The perimeters, in centimetres,
of four of the smaller parallelograms are shown. / 11 / / 5 /
The perimeter of WXYZ is 21 cm.
What is the perimeter of the shaded / / 8 / /

parallelogram? 7 Y
A S5cm B 6cm C 7cm D 8cm E 9cm

In Miss Quaftley’s class, one third of the pupils bring a teddy bear to school. Last term, each
boy took 12 books out of the library, each girl took 17 books and each teddy bear took 9
books. In total, 305 books were taken out. How many girls are there in Miss Quaffley’s class?

A4 B 7 C 10 D 13 E 16



